A & ol & AF & Ml A

S A OleHab et
& 200 Mi2l=¢l
2 210 24 HM2 =8
Ej 211 Moty O =& (cte &
SA-&-2-8-.-5 Ol &4 & Ol &Y Hns
= A 6,298,750 2,485,000 3,813,750
Ol i & 2t 6,298,750 2,485,000 3,813,750
200 Al2l=+=¢l 140,000 250,000 A110,000
210 ZYH M2 +¢ 140,000 250,000 A110,000
211 A= 140,000 250,000 110,000
211-02 SFMHAL U= 140,000 250,000 A 110,000
OSAJlgHl =L AME S+ 140,000,000 140,000
500 Ex= 3,158,750 2,235,000 923,750
510 = 112X 38 487,500 650,000 A 162,500
511 2 12x3S 487,500 650,000 A 162,500
511-02 =JIZ L AHSEHNEx= 487,500 325,000 162,500
ONENFINExS 487,500,000 487,500
520 Al - EHIEXSS 2,671,250 1,585,000 1,086,250
521 Al - THIBEXSS 2,671,250 1,585,000 1,086,250
521-01 Al - SHI2X =S 2,671,250 1,585,000 1,086,250
FIIY S o 18y Ex3 90,000,000 90,000
ONYENELNEXS 131,250,000 131,250

OXsEIAIIE HCZECB0IA B8 223 HEHAXZ

A (&) 1,400,000, 000& 1,400,000
Oogks e 9gJ1J &8 A& XA (=Hl)
300,000,000 300,000
O=HM2AZIJ| dJLHHAZ Igss2 2L
50,000,000 50,000
Oo&xgs 028
UedE D=3 ANE ALY 600,000,000 600,000

ONASHAEH-EJHA FSAFRHIOIE XA
1

00,000,000 100,000
600 X2 H 3,000,000 0 3,000,000
610 =X 3 3,000,000 0 3,000,000
611 XY= 3,000,000 0 3,000,000
611-02 =2 I 2 XH 3,000,000 0 3,000,000

OHCIZCHolA 58 483 AIE 3,000,000




= A
Nl = 0l & AF & H Al AN
20199 & =0l A LBES|H O] 2K A D
2 OleHabg ot
I XY A 4
Sl K AE A HatAst (ol &9
. _ _ 4 L
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O] 2 & 22,220,641 16,444,097 5,776,544
= 487,500
[= 2,671,250
Al 16,061,891
T 3,000,000
o Metpy |4 15,608,512 9,835,804 5,772,708
= 487,500
[ 2,581,250
Al 9,539,762
T 3,000,000
pNRC: =N =l 2,912,252 830,820 2,081,432
SAGCA ZZII2 H KA AFY (OpenLAB) 100,000 0 100,000
308 Xt SIS0l & 100,000 0 100,000
10 2| 2SH Tt A A EFALH] 100,000 0 100,000
OSAGTAl ZEIIZ o1 24 AFY (OpenlLAB) 100,000
BEARD Q) S5t U 2EX S ALY 100,000 100,000 0
308 XX A S 0| & 100,000 100,000 0
10 2| 2SOCHE Z AR E ALY 100,000 100,000 0
Ogally A5 L 22X ALY
100,000,000€ * 14l 100,000
RN AES XDAY 100,000 0 100,000
308 XX SIS 0] & 100,000 0 100,000
10 2| 2SOICHE 2 A EQ E AL H] 100,000 0 100,000
OzR#HaIs MEs XY 100,000
NoEarAel SH U AMAY 22 29 12 200,000 200,000 0
308 XX A S 0| & 200,000 200,000 0
10 2| 2SOCHSE AR E ALY 200,000 200,000 0
OZII2S NBAYHIZ AMAY 2o =X (2-3
21) 200,000
100,000,000 * 14l + 50,000,000 * 24l
SE 221 2 A(BK2T+ )AL 75,207 82,400 A7,193
307 Q20| & 75,207 82,400 AT7,193
02 DIZHHANAL B X 75,207 82,400 A7,193
OS5l 82 21+(BK21+) Ab e 75,207
HOo|MOISE EM5 QUM ALY 50,000 50,000 0
307 @I2t0| & 50,000 50,000 0
02 BIZHH AMALY B X 50,000 50,000 0
OEOMY 88 SAG AWALAY 50,000
MELEY MstEe DSOS (LINGHSSAY 100,000 100,000 0
307 @I2t0| & 100,000 100,000 0




S Olefa g
Ha: Ko MMY FA
Sl s A A (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 It M AHE L 100,000 100,000 0
OMIIXEE atetgsd @S (LINCH) S AL
A 100,000
A w=sEds &S EH(PRIME)ALES 50,000 0 50,000
307 glz2tol & 50,000 0 50,000
02 It M AHE L 50,000 0 50,000
OagAN N3 dSWHE (PRIME)ALL 50,000
YASD NFES 98 MAHIYFYI 29 FX 100,000 0 100,000
308 XXIEHHSOIA 100,000 0 100,000
10 B2 S B&E2AE AR 100,000 0 100,000
OLALSET NHES 918t HABALYHI} 8
=4 100,000,000& * 14! 100,000
Sstdtd SHAY 15,800 15,800 0
201 ¢er24| 9,800 9,800 0
01 At 22l 9,800 9,800 0
O3Z2 ALY Mt X =
60,000& = 15 » 28 1,800
O3 AY Z€HEXNE MZ
80,000& = 20 » 28 3,200
OZ3Z2AtY MAZUE [
80,000& = 20 * 33l 4,800
202 Odl 6,000 6,000 0
01 = LH 4 Hi 6,000 6,000 0
Ol e AR EXOfY]
800,000& = 5H 4,000
OolMIESs Y e ZYLH AR YL
=80l 100,000& = 2H = 103l 2,000
AOLEAE AL 83,820 62,700 21,120
201 Let24d] 52,920 39,000 13,920
01 At 2teltl 17,920 4,000 13,920
OADIEAE 22823 sS4
8,000& = 40Y 64 1,920
OAGLEAE &42RE2s NS
300,000& = 409 12,000
OALLEAE 22 cl2& M
2,000& = 1,000% 2,000
OADIEAE EEBEE(JIEE S) M
5,000& = 4004 2,000
03 &AL Z I 35,000 35,000 0
OZ S ADLEAE AT (WSCW) 2019 EER A
X E FOtl 35,000
202 (44l 30,900 23,700 7,200
01 S LHOIYI 10,900 3,700 7,200




2M: 0
PSES BN
¢l X

- - _ L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OADBIEAIE 2&s s828A 2H01d ZIHY
dl 150,0008 = 32 = 6H 2,700
OADIEANE AR H&X HAE O4H|
40,0008 * 409 *x 23] 3,200
OADIEANE 28 SAEH 2E2 =X Y|
150,000& = 2% * 63| 1,800
OADBIEAEIE E2=F=& H|
800,000 = 4 3,200
03 2L 20 b 20,000 20,000 0
OADBIEAIEl =2H 2tets &I & A& AR #l
Xl opa 5,000,000& = 4™ 20,000
AOLEAIEl HIOIE E3SAX XA 1,000,000 0 1,000,000
401 AIEHIZL 201 Y| 1,000,000 0 1,000,000
01 Al&H| 1,000,000 0 1,000,000
OADBIEAIEl HIOIY S3SHAl REAY
1,000,000,000& = 14! 1,000,000
MEEAME LSS 3,800 19,920 A 16,120
201 et 9| 2,600 14,320 A 11,720
01 AR 22l ] 2,600 14,320 A 11,720
OXMAIE 4= S AIEHoA & =22 M
& 2,000
OXMAIE &4 IEY 50,0008 = 38 x 43| 600
202 04| 1,200 5,600 A4 ,400
01 2Ll 1,200 5,600 N4 ,400
ORHALEF SYLH 2L EX 01|
150,0008 * 2% * 43| 1,200
HExg AQNGEZ2H &AM XS 900,000 100,000 800,000
308 XX SHHSOIH 900,000 100,000 800,000
10 B 2SUHUSHEAEAE AT Y| 900,000 100,000 800,000
OADIEZR S3&A A (ZEH ZEXH) 900,000
N ATEQN BEHE 423 N 23,625 0 23,625
308 XX GH SO0l & 23,625 0 23,625
10 2| 2SS0 USHE A EAE AT Y| 23,625 0 23,625
OXY SWsstHZ 423t ANAMd(2EH &
HXH) 23,625
CENY g4 10,000 0 10,000
401 AlEHIZL 2 0HY| 10,000 0 10,000
01 Al&H| 10,000 0 10,000
OEEdHSHE HM=x=&Y 29H| 10,000
20 AMUAE - QQMEFIESINH 2H 11,855,020 7,913,744 3,941,276
= 2,450,000
Al 6,405,020




Bu: MY ALY B4
SRl A MYATE - AMYSENE 2 CERED
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 3,000,000
NsEINIAHIIE BICIZ ClHolAs 828 A3t MH 4,910,000 3,806,000 1,104,000
H 2 A
< 1,400,000
Al 510,000
T 3,000,000
306 =93 4,910,000 3,806,000 1,104,000
< 1,400,000
Al 510,000
T 3,000,000
01 &3 4,910,000 3,806,000 1,104,000
OmCIZLbolA 828 A4E3 ALY '"198 Al
dHl (A=, ZH72=E S) 4,910,000
4,910,000,000& * 14
= 1,400,000
Al 510,000
TH 3,000,000
gest Y =00 €5 dE N 390,000 390,000 0
< 300,000
Al 90,000
306 ¢ 2 390,000 390,000 0
< 300,000
Al 90,000
01 &3 390,000 390,000 0
OgkLs Y 2AZJ)| E5EE N
390,000,000& * 14 390,000
S 300,000
Al 90,000
NESHAH-E23 A FHAAUOE X2AL 400,000 0 400,000
< 100,000
Al 300,000
306 ¢ 2 400,000 0 400,000
< 100,000
Al 300,000
01 &3 400,000 0 400,000
ONAZHAE-A o ZelolAHolY X
A 400,000,000& = 14 400,000
< 100,000
Al 300,000
IHAZIID| SJLHEANE BE3s52 2L 50,000 50,000 0
< 50,000
306 93 50,000 50,000 0
< 50,000
01 &3 50,000 50,000 0
O=HMoAZIID| HIALHIHASG BLIS2 2
SR 50,000
< 50,000




S Olefa g
Ha: Ko MMY FA
Sl Ao MUTE - AMHBEE 29 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
dTEE 08B UMS D=3t NEAMY 1,200,000 0 1,200,000
< 600,000
Al 600,000
306 22 1,200,000 0 1,200,000
< 600,000
Al 600,000
01 &3 1,200,000 0 1,200,000
OdXeE 0188 LL-MS D=3 XNJ3ASE 1,200,000
< 600,000
Al 600,000
Zol SMIRRMEH 2 961,756 1,027,232 AB5,476
306 42 961,756 1,027,232 AB5,476
01 &3 961,756 1,027,232 AB5,476
Oodiddy 93 961,756
Zol S0 HIEULAMH 29 2,955,740 1,885,555 1,070,185
306 =93 2,955,740 1,865,555 1,090, 185
01 &3 2,955,740 1,865,555 1,090, 185
OSAJIGHIELIAME EHZ3 2,955,740
HEAR=S 29 987,524 754,957 232,567
306 93 987,524 754,957 232,567
01 &3 987,524 754,957 232,567
OMHAIR= &3 987,524
=U -2 EN0YE KX 91,240 91,240 0
=2 -2 EX01Y |X 91,240 91,240 0
201 ¢er24| 49,840 49,840 0
01 At 22l 39,840 39,840 0
OSSN/ 50 FH+Y
70,000& = 22| = 10 1,400
OFNRI AEHE Ol8+2
330,000& = 123 3,960
OJIZHOIH FNEE AMAHE 28
990,000& = 123 11,880
OJIYEXNE AN A 50,0008 * 2 « 43] 400
OFXNRX E2=2(PPT £ =2 &) M 10,000
OFEN=X S2HMA QI
18,000& = 2008 * 28 7,200
OENRX EES(HEH) ME
1,000& = 2,500% * 23] 5,000
03 A2 S Hl 10,000 10,000 0
O=UJIY EXUsX &3 Nzl & K
5,000,000& = 23l 10,000
202 04l 21,400 21,400 0




©@2 2 -2 EXDIY KA (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
01 2L I 3,200 3,200 0
OEXNSXE g2xF=80| 800,000 = 4™ 3,200
3 =22 P20 | 18,200 18,200 0
OEXNSXAFE S &0 ]
4,300,0009 * 4% x 13| 17,200
OHigegs =2 250,000& * 4% * 13| 1,000
308 XAHXIEHM SOl A 20,000 20,000 0
10 212 SUHUSHEAEAE AT Y| 20,000 20,000 0]
ENSXAFECE IIA XSALE 20,000
SXINYAS 750,000 1,000,000 A 250,000
g 487,500
& 131,250
Al 131,250
NEER=N 750,000 500,000 250,000
Fag 487,500
& 131,250
Al 131,250
402 IV X201 & 750,000 500,000 250,000
= 487,500
& 131,250
Al 131,250
02 BIZtXIEANYEX(0OIETH) 750,000 500,000 250,000
ONLENESANEXZ 750,000
= 487,500
= 131,250
Al 131,250
A0 XNeEss 45 711,909 659, 253 52,656
& 90,000
Al 621,909
Il 2™ 245 K& 711,909 659,253 52,656
o=} 90,000
Al 621,909
g 3 2435 & 84,140 54,940 29,200
201 et 9| 11,640 8,640 3,000
01 AP 2t 2] H| 11,640 8,640 3,000
OXEAe& CEO AMIHMI & 400,000& = 12 4,800
OJILXNIAIZ IH0IEE M
6,000& * 1,0008 6,000
OsAJNge4HI|I222 &R} E&4H
70,0008 « 6 * 23| 840
202 044 2,400 3,200 A 800
1 =2 WYl 2,400 3,200 A 800
OJIgXNde d2F=X0id| 2,400
203 € R =& 12,000 12,000 0




A OleHa S

¥y ZAJY NAEES 2o
2

=

Sl JlY AW A X CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
03 A HF=XHR=XH| 12,000 12,000 0
OJIgXN& & OlcHatd 7RI gRF=&H| 3,000
Os4Jg 84 & NE R2FAY| 9,000
207 AT IH £ h| 2,600 2,600 0
02 & ARJH EHH| 2,600 2,600 0
OsNJgs4Na HeAL2E SANES
650,000& * 42D 2,600
307 212t01 & 40,500 13,500 27,000
02 DIZtZAAMEE X 40,500 13,500 27,000
OJIYM CE0 ¥ 22X HEFHE A 13,500
OJlgg =S F2HSAEY 24,000
OJIg-E43t0 O HE XA 3,000
401 Al HI YL 2 0HHI 15,000 15,000 0
01 A& HI 15,000 15,000 0
OJIgH™ ozt 84X 2 S X244l 15,000
HESH 22 91,969 78,953 13,016
101 @121l 17,165 9,325 7,840
04 JI2ZtHI22XNEE 17,165 9,325 7,840
O X AL 22| XF 69,350& * 5% = 45¢ 15,604
o4t 15,603,750& * 10% 1,561
201 LBt Y| 54,804 49,628 5,176
01 AFR2t2ldl 54,804 49,628 5,176
OXME 3222 66,800 * 30Y x 262! 52,104
OxXMNES ¢ 20,000& * 359 700
OseEss+9 H& 55,000& * 2004 &~ 1,100
OXAMNEX OHUE HA 100& = 9,000% 900
207 1R H 2yl 20,000 20,000 0
01 A72sS<H| 20,000 20,000 0
OMZEGM =X A 2 20,000
Feidlgl M7 DR BEZ X 180,000 120,000 60,000
& 90,000
Al 90,000
307 QI2t01 ™ 180,000 120,000 60,000
& 90,000
Al 90,000
02 DI2HEAMAIEE X 180,000 120,000 60,000
OFIINY M7 NEod B81x32 X3 180,000
T 90,000
Al 90,000
SAJY AL & s XA 217,800 0 217,800




© DlcHated 1

=

g Aegs Za
2

- _ _ RE]
M- o9 (B H) - MEAY - B2 %Eﬁ HR=2
oIz2tol A 172,800 0 172,800
DIZFAMAIE E X 172,800 0 172,800
O 2M AIE X &
120,0002 = 12JHE » 120"¥ 172,800
ANXSHMSoIA 45,000 0 45,000
10 B 2SUHUSHEAEAE A Y| 45,000 0 45,000
O4+E22J|Y 42%Y IS
45,000,000 * 14! 45,000
|olEog HAAME AL S 18,000 18,000 0
307 212t0| ™ 18,000 18,000 0
DIZFAMAIE E X 18,000 18,000 0
OWAHEIIgolEos HIAE AL 18,000
ATHAH EE XA 120,000 100,000 20,000
oIz2tol A 120,000 100,000 20,000
02 QIZFAAAIE E X 120,000 100,000 20,000
OXNAXATA HEXY EXZ 120,000
=228 3N Y 139,750 174,750 A 35,000
FAE X & 139,750 174,750 A 35,000
== A& 139,750 174,750 A 35,000
et AH| 8,750 8,750 0
A2 22| Hl 2,600 2,600 0
ORAANZEC TFA OHLHZH X M=
13,000& = 1008 = 23| 2,600
22294 6,150 6, 150 0
Ost=22d9ds ¥20/22(Had]) 150
Odle HE=E €52
100,000 = 300H= * 23] 6,000
[0:1:]] 26,000 26,000 0
=22 P20 | 26,000 26,000 0
ORAAES FHIHA Y|
6,000,000€ * 4% * 13| 24,000
OLABLR HINYD +48
250,000€ * 4% « 23| 2,000
ot A= 15,000 15,000 0
0I2-01=2 2| 0 b 15,000 15,000 0
ORAAMEES FIAH S22 X
3,000,000 * 1/2 * 10JHAF » 13] 15,000
ANXSHHSOoIA 90,000 125,000 A 35,000
10 2| 2SHUSHEAXERAEASH] 90,000 75,000 15,000
OZEE=S SLAANEC OHAANY 70,000




SA: OleHat
g J1gH 22
g X

@ == 0ANE X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ORI AEE Follow-up XI & At 20,000
AL A (0l ) 88,470 84,290 4,180
Jl=&l 88,470 84,290 4,180
Jl234 88,470 84,290 4,180
201 2et24d] 26,070 24,770 1,300
01 At 2teltl 26,070 24,770 1,300
OJIEAe &I 6,600
OSA gtz 260,000 * 123 3,120
OJIE 2| 5,300
OO0kt & S22 R SAHI
650,000& = 174H 11,050
202 Odl 57,600 54,720 2,880
01 U401t 57,600 54,720 2,830
ONSE JI=gR=A NI
240,000& = 20H » 123 57,600
203 YR =&l 3,600 3,600 0
04 FENSEHE=LH 3,600 3,600 0
OFRN2IYS =2 300,000& = 12& 3,600
204 AR A H| 1,200 1,200 0
01 ¥R 1,200 1,200 0
Ound AMg HRFLH| 100,000& * 123 1,200
MEES(0lchared ) 5,672,000 5,690,000 218,000
WEHHX S 5,000,000 5,000,000 0
S2JGHII33H HE= 5,000,000 5,000,000 0
702 JISHEES 5,000,000 5,000,000 0
MNI3HEES 5,000,000 5,000,000 0
OsMIIgsdIIs=AEE=S 5,000,000
RSN 672,000 690,000 A 18,000
KNS OINtAs(ZSAIY BIXLIAME HE) 72,000 90,000 A 18,000
311 X+ S 01 XF &k & 72,000 90,000 A 18,000
0T Al -2+ RXANLII S S0IXI & & 72,000 90,000 18,000
OSAJ|1Y HIZLAHEH A8 X232 Ol XF &
B 72,000
NEH A2 a4s(ZAIY HIXNLALNEH HE) 600,000 600,000 0
601 XtL S A& & 600,000 600,000 0
01 Al- 2 - IXNANLIISHL S S ot 600,000 600,000 0
OSAJ|Y HIELAHMEH 248 23 3 &
= 600,000
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